CS102 - Programming 1 - LIU 10f2
Quiz 8

5 December 2012

You have up to 25 minutes. You may use a calculator if necessary, but not computer,
book, or notes.

1. The following program uses an array. What is the output?

const int SIZE = 4;

int xs[SIZE] = { 3, 2, 4, 2 };

int z = 0;

for(int i = 0; i < SIZE; i++) {
z += xs[i];

}

cout << z << "\n";

2. The following program passes an array to a function. What is the output?

const int SIZE = 5;
void blargh(int a[SIZE], int i)
{

i++;

H

alil++;

int main()
{
int b[SIZE] = { 0 };
int i = 1;
blargh(b, 1i);
blargh(b, 1);
blargh(b, 1i);
for(int i = 0; i < SIZE; i++) {
cout << b[i] << "\n";
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3. The following program manipulates an array. What is the output?

const int SIZE = 7;
int xs[SIZE] = { 4, 7, 2, 1, 8, 6, 5 };
for(int i = 1; i < SIZE; i++) {
xs[i-1] += xs[i];
+
for(int i = 0; i < SIZE; i++) {
cout << xs[i] << "\n";

4. The following function uses both a value parameter (int i) and a reference pa-
rameter (int& j). What is the output of the program?

void blargh(int i, int& j)

{

it++;

jtt;

cout << i << n’n << j << ”\H”;
b

int main()

int 1 = 2, j = 5;
blargh(i, j);

cout << i << n’n << j << u\nu;
blargh(j, i);
Cout << i << n s n << J << Il\nH ;



